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() L0l

01 P 8 8280 1 S30C
02 () P 5x105 1

03 P 6x25 1

04 P20L5 1 S30C
05 () 1

06 P 6x15 1 BC3
07 12tx24x42 1 S30C
08 10tx12x30 1

09 12tx24x40 1 S30C
10 P 8x50 1

11 MI10 x1.5 1

12 MI10 x1.5 1

13 0.01~10mm 1

14 M8 x1.25 1

15 P 10 x18 1 BC3

16 M4 x0.7 4

17 1

18 M6 x1 1

19 P4 x10 2

20 M6 x1 1

21 6tx32x158 1 S30C
22 M6X1 1
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)

OBC

R sng=o0B=—" 3R (0 =45°)
OB sina

AB=0B-R=R(+2-1)=04142R=0.2071 D

[ ]

¢D AB
10 2.071
20 4.142
65 13.462
75 15.525
78 16.154
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(1)
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<0.01

(90°)
A%
(1) ( ) (2)
3) ( ) (4
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(

)

\ ( H)
6 1<90°,0,>90° 6 =90 H

(@< 90 (b6 90 (©6,> 90°

H,
Hy H i
-~ AL N

A,
-

p
01/2 o2 | 02

()8 1<90° (b) 6 =90°( ) (OH=H+ H

r V2 .6, r

(I)Sil’l—z = ., SmMm—=—
2 r+H 2 2 r+H+AH,

ool NEHH 17 VoarH+H? V2
2 r+H r+H 2

6, Jr+H+AH)? =17 H?+AH,” +2rH + 2rAH, + 2HAH,

COS— =

2 r+H+AH, r+H+AH,
. A0 . 0 0 .0 6 6 . 0
sin— = sin(— ——) = sih—Cco0s— — cOS—sin—
2 2 2 2 2 2 2
V2 H?+AH +2rH +2rAH, + 2HAH, 42 r
:_X —_—— —
2 r+H+AH, 2 r+H+AH
B

><—(\/H2 +AH,” +2rH +2rAH, + 2HAH, —rj...
2 r+H+AH,

(6-1)

0 Vv AH? 8 ,>90°
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(1)0,>90°  (2)6=90°  (3)H,=H- H,

.0 r V2 . 0, r
(1) sin— = = sin—==————
2 r+H 2 2 r+H-AH,
0 Ar+H?-r* 2
(2) cos—= .
2 r+H 2
COS&:\/(I’+H —AH,)’ =17 H?+AH,’ +2rH - 2rAH, - 2HAH,
2 r+H-AH, r+H-AH,
sinA—e = sin(& - Q)
2 2 2
=sin—2cos— — cos&sing (0/2=45°)
2 2 2 2
2 r JH2 £ AH,? +2rH —2rAH, —2HAH, 42
= —X — X —
2 r+H-AH, r+H-AH, 2
V2 1

x—[r—\/w +AH,? +2rH — 2rAH, —2HAH2)
2 r+H-AH,

2><sinA70><(r +H —AH,) = v2(r —4/H?+2rH —2rAH, - 2HAH,)

ZSinATexAHZ = 25inA70(r +H)—~2(r —/H? +2rH - 2rAH, —2HAH,)

2(r—+/H?*+2rH —=2AH. (r + H
AH2=r+H—\/_( \/ 2( )

ZSinA—e
2

— 11—
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(1) ( 90°) (2) ( 90°)
X X
AB AD
L
L
tan 6 =X/L tan 6 = IX/
- 0 =tan”' X/L + B6=an' X/ L
(D A%
2 (>90°)
X=0.015 L=40

tan 0 =0.015/40
+ 0 =an"' 0a5/@ad4£D8

2) 6
(>90°) + O
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)

(1) T H
i:i:i ®t, =2.071t, , H,=2.071 H;
t ot ot
t'=t,+At H =H,+AH
H, H,+AH
t, LAt

/N H O
/Nt

AH = Atsin@ = (t —t,)sinfA (7-1)
0 H (

t, 7.99mm=t, =16.547( )

(2) .
t, =16.56(

t=16.56  16.547=+0.013(mm)
7-1 0 H

)= At=t,) -t,

H = ¢D=78 H,=8.077(

H, ~ 8.077
= =
7.99  16.547
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H,( ) =3.90 (mm)



H, 8.077

=2 s H, =3.897 (mm
7.99 16.56 1 ( ) (mm)
H=3.897 3.90= 0.003 (mm)
3)
\Y4 &) H,
(1) :tan ' 0.015/40=0.02148°=1.28905"

6 /2=0.01074 sinA70=1.8744><10_4 H=4.96593

2rH=119.13266  D=23.99mm r=11.995mm
H+1r=16.96093 H?=24.66048
2

V2| —JA? T 2rH —2AH,(r + H)

(6-2) Hp=r+H- “AD
2sin—
2

\/287.58624 — 67.8437 x AH,
2x1.8744x10™
\/287.58624 — 67.8437 x AH,
45233.49+ Hy= -
2x1.8744x10
287.586 - 67.844 x AH,
14.0535x10°°

H,=16.96093-45250.45348+

2046068733+90466.98 Hai AHJ =

©® AH, S AHZ
2046068733+90466.98 H,=2046365674-482755185.5 H,
482845652.5 H,=296941, Hp=6.15x10 *mm
=0.000615mm =0.615p(

3)
() H ( —
2.0726
10.02 0.000615% —
2.0726
10.02=2.937x10“mm 0 . 0 0 3 Bum
() H, 3u

3 3 0.003x10.02=0.03006mm
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h1 02 9
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A 91 he
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02 -d
0, +d
=(+d) + (-d)=0
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1.TMUX-10
TMUX-10 , RS-232C
(1) RS-232
TMUX-10 RS-232 300 600 1200 2400
4800 9600 BPS 9600 BPS
(2) TMUX-10
A.
DI D2 D3 D4 D5 D6 D7 D8 D9 DI0O DIl DI2 DI13(
)
D1: "Q" D2: "1~3"
D3: "A" D5~DI12:
D13 [CR] [RETURN]
: CH3 <1.2345>,
<03A+001.2345[CR]>
B.
D1,D2,D3,D4( )
DI: "9" D2: "1~3"
D3: "1 2"
1: TMUX-10
2:
2.
(D). CPU
2Bits Bit
8 8
(8-1)
(2). CPU CPU
2bits

bit

16
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PC RS2 32

(8-1)
3). (Transmitter)
(Universa/Asynchronous Receiver
Transmitter UART) 8
(Start Bit)
(Stop Bit) 8-2  UART
UART
o gty e B 300 £ FEEHEH
1 — '
A . :
fi7 5% | barQ | bitl | bit2 | bat3 | batd | batS | bat& | bn? E}%:
0 "
8-2
(4) .UART
Bit
(BaudRate) UART 1200 2400 4800 9600 19200

UART
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MCS_51 UART P3.0 (RXD)

P3.1 (TXD) MCS-51 SFR (Serial
Buffer SBUF)
SBUF ;
SBUF SBUF MCS_51
UART TXD
MOV SBUF,A
UART RXD
MOV A,SBUF
(5) .UART
8051  UART
( ). UART
( ). UART
8051  UART
MOV SCON,#010100008 ; UART MODE 1
MOV  TMOD,#001000008 ; 1 MODE 2
MOV TH1,#FDH ; 11.0592M Hz
; , 9600 BPS
SETB TR1 ; 1

(6) .AT89S8252

AT89S8252 ATMEL MCS51 ,
8K 256Bytes (RAM) 2K

EEPROM

8K e

256 Bytes (RAM) ----

2K Bytes EEPROM —---==—mmmmmmmme-
. (RAM)

TMUX-10
RAM

18



(8) . EEPROM

23H 22H 21H 20H Mitutoyo

27/H 26H 25H 24H

37H 36H 35H 34H

AT89S58252 2K Bytes

(9) .AT89S8252 EEPROM

ORL
MOV
MOV
MOVX
XRL

ORL
ORL
MOV
MOV
MOVX
ACALL
XRL
XRL

WMCON, #000010008B
DPH,EEPROM_Hi_addr
DPL,EEPROM_Lo_addr
A,@DPTR

WMCON, #000010008B

EEPROM

WMCON, #000010008B
WMCON, #000100008B
DPH,EEPROM_Hi_addr
DPL,EEPROM_Lo_addr
@DPTR, A

DELAY

WMCON, #000100008B
WMCON, #000010008B

EEPROM

Bytes

WMCON

19

33H

10.02

32H 31H 30H

EEPROM

EEPROM
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B. MAO1

W77.95 | @519 | w4399 | y2375

A |77955| 5 |52008| 5 |43983 6 |23747| 7 | 23
B |7795| 24 |5190| 20 |4399| 18 |2375| 12 | 74 OPO01
A |77955| 4 |52008| 5 |43988| 5 [23747| 6 | 21
B |7795| 21 |51905| 25 | 44 | 17 [23.|7188 72
A |77955| 4 |52008| 4 |43988| 4 |23747| 6 | 18
B |7795| 26 |51.99| 20 |4399| 13 |2375| 10 | 69
() )
1.
(1)
(2)
(3) = A( )7=20 .
2. B ( )27 1.
(1) 0~25 7/ 2 8B6A
25~50 50~75 75~100 346 )
(2) 3.
(3)
1. 2 1 mm

20



B. MAO02
W77.9% Pg51. 9¢ p43.99 P23.75
A | 77.955 4 52.003 4 43.988 4 23.747 6 18
B | 77.95 18 51.99 14 | 43.995 11 23.75 12 55 |OPOl
A | 77.955 3 52.003 4 43.988 3 23.747 6 16
B | 77.95 17 51.99 16 43.99 13 | 23.745 | 10 | 56
A | 77.955 3 52.003 3 43.988 2 23.747 5 13
B | 77.95 13 | 51.995 | 12 43.99 13 | 23.745 | 10 | 48
() ()
1. 1.
)
2. =A( ¥=15.7
( ) B( )=53
2. 51.99 A B B/A=53/15.7=3.38
3 ( 338 )
+0.013mm 3.
3. 4
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75mm

25mm

0.01

0.0lmm

22




(1)

€)

)

(

)

(

23



(1)

)

€)

(4)

)

(6)

Q)

@)

©®

EEPROM

PC

8051
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Timing
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8. 8051

9 .ViusB acs
Il / O

10.

1. (77
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